2)

)

4)

MEL Coi¢ | JANSVARY 20077
D) Line parallel & y=2241| 2% + 2k 4+ =3
. 9
K9 O'F ‘Fofh
‘3:2‘14—(_ R +2k+S =3
(3,10) o~ line 2k = 3 ~13
, 2k = =10
= 10 = 2x3 +¢C
k= -¢
=2 c T 4
. 5, A
Line 1¢ Y = 2=+ 4 / (x+ r)
T&fh ;\\ 31—4‘—
- 7\
/\ = 6¢y 2 (5)
/ = 6.5 ¢ 2¢ 14-
2zl
- 4
= 37Y =
Pusses tl'\fu\at‘)"\ (—?)0)
(Z)OJ C_Qe'p(;(fe—\E = Z'?Y
(o,4)
6) 3, 3
i) 25t :<zr
2a +Sc = af +7¢ 3/—)
= ¢3
2a —af = e -S¢
= J2g
a (2 -f) = 2¢
i) l)‘z _ )
a = 2c¢ 3 " )2
8
= |
[ <t 46@) = ’Dcz+kx+§ (4_5,)
I,\f Ai\/islbn L] (‘)L—’Z) i'\ves c’
a rermader of T then - G
Lj remander tlesrén 49
f(=) =3




. FAwoar 200 @

—

+
i\
|
3
-‘,
A
>
1

b+4 ",/7‘7/4‘44%
4

= 24 -6
7

algc =

3(l)(25E)

2 (4" -457)
2 rara
z 3(8|—I"l)
32
1—,
= 3yl - L

T

N

»

S.oa+bre = oabe

> 4<k <4

>

i)

.) 3435 X 4—(45)1
= 23b k Axb?

= [2 arloz

xzfz(— = (14—1)(1"'2) |

x -Sx 46 = (1—2)(9&—"3)

x4 (ar)~T)
x? - art (=) (2-3)
= X4+
2~ 73

¥ 2

2 =

V€ no real voott Bl< 4a(

Fhkx +72 =0

k> < Az
aran

|

R
B.((*dg.-ca ot bwo %wkg

= (il el =) miet=(e2-d)

|=(e)(2) = ar

{
b\'l" h

7 @3 P~.3 h“‘j‘-"’“’\ (.) A (h"-,.) .f(hi‘}-l) .

P‘z :(\M-L*']-Z_ (p‘:‘-—!)l
pr = Ant
2m

P:




MET coe£ |

. TSANVARN 20071

®

I f\) From aph
)y e

3.8 4ad x=0.25

,C'F‘(‘ Lrﬂ—sb‘\ o"‘ ﬁra,k NL\tLI\
hai L\?&khl’fo;\P at (fl)—‘z.)

B)

2% + 1\ =
Et

x4+ | T4 -x
x

~ Deaw gapl of Yy =4
Und  read ot coordt ot
Tn‘\’-(/SLd’"o'\ with ‘3 :DL+‘J;(

.77

> = 0,2 a~dk > =

'“;) (DL -—\)2 + l.;- -74"

x =0

"31

0w Y-an

(o))" +
\ t.).l
=) |31:"3) b:i’E

Coonts (o ,.FE) a-A (O)-E)

4

+ 4

)

F 4-x

A

S

G‘raJ\‘Cnl’ 0'(' A@ S b'z"‘j'

D(z_'ih
< 8;4' :'.ﬁ; z ‘L
7--1 %

US:ALJ

-—
—

~2(x -3)

Lj_é

\3:—2,m+'|1

” 'IT) L
7 Cetrie ( |)O)) fﬂf*l?i,,,,z

Fbin" (\,1) 1{ an Cl.l‘(,lc 4'{'
Makql' loo'm*’ a~dd  Jowerr ,oo.'d'
of HS‘\* bramekh of b= >4+

3¢

circle  touhed graph
Lowesk pont of cinle s

(\)—-2) For all other »
vaulues cootd > =2  So

@57, g) -

) ne(TgE o)
M ('3, 6)

Gredient of L l_-,.'guh( -2 |
c,j..gl' £P\-\(>L’7(|)

. - boz—2x4b

elon)

ertcle does mot obesgect

Find e;,vx o@ A@

j A4 2o = 1
1215 N
AA
A(""’),/>< « ('])Y)
M xTo R LA .



e

A

X

X+=

y

y 4

o

TAMVALT 20077

Coré |

11 (@)

MET

2

-10

1]
1]
L

T

4751/01 Insert Jan 07

Pd

S g S o

1

-6

© OCR 2007



 MET coee ' Tanumt 2067 ®
) Y-4r . X - | £6) = (x-2)(x%+2x -1)
“ oy - , B &t , ,
T e SR G- Y
x == o 2a

5'4’ - 1_"" 2
I 2 |
o N x=-2% 202 - -1¥ 7
8(q-4) = alxs) | 2
2(4-4) = =+l | Bebs xz2 x=-|2[7
—4 5 Al 17:7) | |
'3 f ¢ 1[(1_]) = (7“333 _$(1-3) +2

= Ly A4 i
2% T 3 | , o

L T (-t~ +4)(x=3) =C(x-3) 42
A'& B On t'Lvs ‘l‘\'e % -0 T > o
. T o0 =bx 4 Gx -3 +18x 27
_\‘ ‘3:"-1 _{‘;‘4"? +2

2

z

D = (o,
TArca of A& = L Lie x Kc:jb».l’ \ m) ‘
> '{(1—3) =0

) 1= o —aar 4 222 =10

Rue = ¢y = 12-8 = I |
¢ 2 4((1'3) oL buacd L‘] 'Er«-\t""'r—v?

\»\t»fsk‘\’ = x¢oed ot M =3 _‘(‘x) g‘} (g) ,

Aren = S»
Revly, 5 = ¢

14 vk
M= 242

= 45 .
+

I3) x =22

)(7‘ F2x —|

-2 I X‘l -{x 4’2 ,
w3 =2t
2%t =
2xt -4

—==2
-3 4




